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3 Hours
Note: 1. Attempt any 4 Questions
3. Figures to the right indicate marks

b) i
the preparation of a master budget

Answer the followmg
a)
b)
c)
d)

3. a)

2. Assume suita!)f '

onsidered for billing considerations:
8% Yen, 12% Saudi Riyal & 20% in

Takka', 5% Sri Lankan Rupee & 80% in INR
_ ¥u§ﬁ, 30% Yen, 10% British Pound, 10%

<and in the subsequent half-yearly periods, the
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Exchange rate (Equivalent INR)
Jan 2017 | July 2017 Jan 2018
67 66 65
89 82 81
0.58 0.52 0.54
17.8 17.6 17.8
82 83 91
0.4 0.38 0.42
8 8.5 7.5
0.85 0.85 0.82
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b)

4. a)
b)

i.

deducted in 3 equal mstallments
ii.  C.E Advance: 8% of project w

starting from the 3™ year
ili.  Material cost component of thc

Contractor has to pa:gw
Retention amount; B:z;

3 g\\apltal required to be raised is estimated at
may, in the proportion of yearly bill. Interest on
' &ﬁ@}mﬁl@ mterest) Repayment of working capital is to

<together with its simple interest _

; ing during d.1.p is 1% of the project worth
it for the contractor over the 6-year period. Represent
WS ‘w.r.t time graphlcally and 1dent1fy whether additional

RPTR T a) A typlcal cost sheet of 2 manufacturmg company provides following particulars: [08]
"4 » » 3r; I Particulars Amount per units(X)
Jement of costing:
a. Raw materials 85
b. Direct labours 50
c. Overheads 35 .
Profits: 40

v material in stock —on an average 2 month
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ii.  Material in production — on an average 2 month

iii.  Finished goods in stock — on an average 1 month

iv.  Credits allowed by suppliers — 3 months

v.  Credits allowed to purchasers — 2 months Rt

vi.  Lagged payment of wages — on an average 1 week
vii.  Overhead expenses (Lagged payment) — 1 month .
viii. Y™ of goods are sold against cash il

ix.  Cash in hand and bank accounts is desired to: be mamtalned at ? 1,50,000/-
Estimate the working capital needed to be kept ready for production of 1.5 lakh ynits per
annum (assuming production is carried out throughout‘“the year)

b) The details of ABC Company are as under: i ) (12} ‘
Sales (40% cash sales)

Less: Cost of sales Gross Profit:

Less: Office Exp. (incl. int. on deben’cur
Selling Exp.
Total
Profit before Taxes:
Less: Taxes
Net Profit:

Particular | _ Rs.
Equity share capital - : d £ Ssets ‘__;:;_.” 1 55,00,000
10% Preference ‘ 1,75,000
Reserves . 3,50,000
10% Debenture 50,000
\ 2,25,000
ous Assets 1,00,000
64,00,000

; ,000 Taking 360 days of the year, calculate the following

’nos, also dlSCUSS the posmoh of the company:

' Inventory tumove "ratxo
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6.

a) The cost of machine A and B are T 10,00,000 each. Estimated life. vof both ma hines 1 :
years. Income generated from both machines is given in table belo Vit

Year

Project A

in lakh ¥

2,30,500

2,28,950

2,17,200

2,16,250

O b (G0 B |t

2,14,850

at the end of each yéa

Which machines is better from the “po 1t
Based on B/C ratio, suggest the better machme

Year | Construc-.| -E
No. | tion costs™ [-" Repairs and
maintenance
In crore X . In c-ror,e‘?» In crore ¥ |
0 i i 300
1 3 - BN 330
2 450 360
- 380 390
4 370 420
5 750
6 490
e 530
R 570
a1 610
(UK 650
15 11 700
{42 750
13 800
14 7 700

Determme based on NP ;-
show the BEP of the pI‘O_]CCt

whether the project is feasible for both the project parties. Also
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